'Ques-l'icm 1. (A A June 20032 Intermediate Paper 1 MO Calculator]

The diagram =zhows=s a spinner.
Wirhen the arrow i= =pun the probability of zcoring 2 i= 0.3

The arrow iz =spun twice and the =cores are added.

[a] Complete the trese diagram

Firsi span Sesaoand s par

[1 r'n-;:wk]

(b) vwhat is the
probability that the
total =core iz 47

[2 mark=]

Due=tion 2. [(ACLA MRovember 2003 Intermediate Poper 1 MG Salculatar]

Tom and Sam take turn=s to throw a dart at a target. The probability thaot Tom
hit= the target i= 0.3 and the probability that Sam hit=s the target i= 0.2

(0] Complete the tree diogram

Tawarm s thraow Syauirn = i

X : Hat

N —
Hin
Pliss

Hat

Pl

Bl g

[1 rmark]

(bl vWwhat i= the
probability that
both Tam and Sam
hit the target?

[Z2 mark=]




